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Fill in the boxes.

110 X 4 =

/0X 3=

Write the answer only.

@®2x40

Fill in the boxes.

€D Six 20 g weights

Total weight is

€ 40 cans in each box

cans in 5 boxes

@ 30 children in each class

children in 8 classes

O 7xs5= ©s5x3=
750 = ! Seas0—
QO 12x3= @ ocxa=
12 X 30 = ' 6 X 40 =
@ 3x2= @ 9ox5=
30x 2= | 90 X 5 =
© sx4= & 1ix2=
80 X 4 =| 110X 2 =
@ 9x30 & 6 <50
@D 12x4a0 . €2 12320 ...
@®soxs . & 40x3
@ 7ox2 . & 50x4 .

@ 120 ml in each glass

I ml in 6 glasses

€ Nine 50p coins

£ altogether

€D 4 potatoes in one bag

potatoes in 70 bags




